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Chol: XIDjQLAIMIEl 29 22 (Shol: % 2)
SA - BB - S(3H) - MRAY - BES Ofl by e MimE=E)
Al 80,827
201 LEr2AH| 141,589 143,392 A 1,803
J| 113,272
Al 28,317
01 AtR2t2lbl 104,909 111,712 6,803
Ogbtg=-2Y| 78,711
oHiSIoIA T MIE 8,000 100 800
J| 640
Al 160
o XA Q1 X2 AHCERADK) &=+ ¢!
84,000 *20M E 1,680
J| 1,344
Al 336
oLz ) 2 ARE 2¢! 56,820
— QIR A =2 aU(LHA)
5,000 102 %83| %6 | 2,400
J| 1,920
Al 480
—QIX| LS T2 (= X2
5,000&*10H* 16367 | 4,800
J| 3,840
Al 960
—XIOHZ2 4! D& E (LHA)
5,000 *10H*63 67 | 18,900
J| 15,120
Al 3,780
—XI0jY TR0 (F2)
5,000 *8H *40J| A +63|*3 | 28,800
J| 23,040
Al 5,760
—XI0HoI=E WA
5,000 *8*B83|*x67| 1,920
J| 1,536
Al 384
oXIOHeIAINE EEZ2E 7Y
9,805,000& =14 9,805
J| 7,844
Al 1,961
oXIDHOHADIS 89 S
3,000,000 *1A 3,000
J| 2,400
Al 600
oXHIZEMEEH XA S
160,000 & *3IH 2~ 480
J| 384




2A: 2AAFS
Hm: 1= FoIAURR(B2A/220AR)
el OtAHIE 2Y 2l (S &S
_ e
I . o9 (3) - NISAY - BAS Ofl kot 05”&5 HR=2

oXI0NXI S A2 &

|0

M ==

100,000& »7 & *22

150,000 6 *12

150,000 » 19

4,180,000 = 14!

56,000 =401 = 128

36,0002 x50~ 128
oH|Ol ¥Xt=

24,0002 #1301~ 122

59,000 =20 * 122

1,100,000 1CH

Al

Il
Al

Jl
Al

Il
Al

Il
Al

Il
Al

J|
Al

Jl
Al

Il
Al

Il
Al

J|
Al

Il

6,126
4,901
1,225
1,400

1,400
1,120

280
3,750

900
720
180

2,850
2,280

570
9,940

5,760
4,608
1,152

4,180
3,344
836
11,108
2,688
2,151
537

2,160
1,728
432
3,744
2,99%
749
1,416
1,133
283

1,100
880




A EAAMS
HE: FHOHS F0IAURRI(2A/SAR)
Chel: XIHetAHIH 29 2e) EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 220
02 S3=gHl 33,480 27,480 6,000
OsE2= & HA 24,000,000 * 14! 24,000
Jl 19,200
Al 4,800
OAlE &I Xl 5,600,000 14| 5,600
Jl 4,480
Al 1,120
OXtgrs el 3,880,000 %14 3,880
Il 3,104
Al 776
03 A2 I 3,200 4,200 A1,000
OXIONII=1 eiiote &&ol
700,000 *14] 700
Jl 560
Al 140
OxtH==2JIU2 & XM==2 & I8
AL 2,500,000 %14 2,500
Il 2,000
Al 500
202 04| 40,640 50,265 A9,625
Jl 32,512
Al 8,128
01 2LHoIH 40,640 50,265 29,625
OXIHHZ ALY =& O
20,0002 «62H 82 * 12 11,520
) 9,216
Al 2,304
OXIMHHZ 22N HRUS & SSUS
110,000 2 x33] 660
Jl 528
Al 132
OXIoHo g2l FX(SRA)
20,0003 x 1962 * 122 27,360
) 21,888
Al 5,472
OXIMHHZ 22N HRUS & SSUS
110,0003 2 +53] 1,100
Jl 880
Al 220
301 EtE NS 85,910 107,830 A21,920
Jl 68,728
Al 17,182
11 #AIAMHIXIZ S 9,142 31,062 A21,920




2A:

Hu: oS ZoIAARR(2A/EAAR)
Chel: XIHetAHIH 29 2e) EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OZZd 2tAld| 8,922
SXIHIEH (A A )2H
3,000& +700& 2,100
) 1,680
Al 420
oXIHH 24! JHEH
1,500 10 +63L 67| 5,670
Jl 4,536
Al 1,134
o XIS w A 3,000 «8& x82| 67| 1,182
) 922
Al 230
OXIONOI=1 eiliote &&dlol 220
o2tAlH| 3,000& 20 60
Jl 48
Al 12
Sa=ta] 8,000& x20& 160
) 128
Al 32
14 0Bt 2as 76,768 76,768 0
O 2d &8 2208 2AE
80,0002 x2& *102]+67 | 9,600
Jl 7,680
Al 1,920
OZ2E XI0HoIY Z2 08 2A=E
60,0002 * 12 *200H A +83| %37 28,800
Jl 23,040
Al 5,760
OeXIdst T2 LAt
80,0002 x 1253 x127| 4,800
Jl 3,840
Al 960
OXIOoHEn A =208 A=Y
80,0003 * 12 *13x87| 640
Jl 512
Al 128
OE oA &=H| 2,744,000 128 32,928
7l 26,342
Al 6,586
307 elztol & 136,000 144,512 28,512
Jl 108,800
Al 27,200
01 2g & 2=yl 136,000 144,512 N8,512
OXIHEIIZ A (ZE B A
80,0002 +350&H 28,000




1

-

=

=

FA EAAMS
M OB FoIAYRR(LA/PAAAR)
Sl XIHOIAIMIE 2% 22 CoR
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Il 22,400
Al 5,600
OXINEIIZRAIRE THA 7
1,00024%20,0000K 20,000
) 16,000
Al 4,000
OXIoHett 25 250IM7 &) 7Y
5,000 *400& «12& 72,000
7l 57,600
Al 14,400
OXI0ett S5 & 2| 45 1Y
22,0002 *500H 11,000
Jl 8,800
Al 2,200
OXION &S Atdi2te] 2S5(Fda 8) +
= 5,000,000 * 14 5,000
Jl 4,000
Al 1,000
XOHeta M 29 32,133 31,310 823
101 2I24H| 32,133 31,310 823
MU IIRINZZE2NSES 32,133 31,310 823
OXIDHHA MIES B AF2tE 32,133
col=gl 78,8802+ 125U 527 20,509
oFE4Y 78,8802 % 12121507 4,102
oMBD PAEAL
6,800 * 1H+6& x525= 2,122
cARIEE = 2,600,000 %14 2,600
S 2,700,000 *14] 2,700
oZ22= 100,000 *1& 100
SSA =R =A2 2SH| & 2| 1,850 1,877 N2T
Il 1,480
Al 370
201 Ler=23 | 1,850 1,877 N7
Jl 1,480
Al 370
01 AtR2t2|HI 1,850 1,877 avrd
OzzSA BEH Y 2|
1,850,000 *14] 1,850
Il 1,480
Al 370
Al XIOft&HIE 28] XIS 8,400 0 8,400
= 2,520
Al 5,880
201 er2&| 5,000 0 5,000




A EAAMS
HE: FHoOS FLIAABAI(LA/222)
ol XIDHOHAMIEl 2% 22 (SHol: )
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
< 1,500
Al 3,500
01 At2tltl 5,000 0 5,000
Oxtegr extz 500,000 1CH* 102 5,000
= 1,500
Al 3,500
301 2N = 3,400 0 3,400
=S 1,020
Al 2,380
11 HAIMHIXI RS 3,400 0 3,400
OXIONEHAL - OHS DISXIs Z28 Eotdl
340,000 10 3,400
< 1,020
Al 2,380
HH2SZH(SAAL D) (OIEHIIE 1,716,798 1,763,891 A47,093
[ 199,907
Il 607,332
[ 39,981
Al 869,578
el 2| 1,588,392 1,621,044 A32,652
s 199,807
Jl 607,332
= 39,981
Al 741,172
el 24| 49,320 43,616 5,704
101 @12A4H| 49,320 43,616 5,704
03 SRA(RIH )22 U2+ 49,320 43,616 5,704
OAZtel2ReY
15,2223 9 +20 A1 2H 12 +150% 49,320
gr2AZ2elAre Q12| 462,499 434,140 28,359
= 123,260
= 24,652
Al 314,587
101 eI24d| 387,148 373,668 13,480
[ 123,260
= 24,652
Al 239,236
03 BRA(RIAHL) 222 387,148 373,668 13,480
Og2H2 e AIY MEgels 387,148
ollEgs 2,162,190 «9F ~ 128 233,517
[ 111,584
= 22,317
Al 99,616




SN ERAN D
MM HYSAFHI(BHAIZE D) (OIEHIIEH
ciel: olziedy| (B9 &)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
oItEg 12,000
— B Xt 40,0002 +7F*12& 3,360
-3 30,0003 x4H =123 1,440
-=M 70,0003 +«3F 123 2,520
—KITHOI & 110,000& x3E x 122 3,960
- 22AIF(HHEHIS)
20,0003 «3H 123 720
SIESE=, 35,640
-N3rg 200,000 %9 * 128 21,600
—HAZAH| 130,000& 9 122 14,040
X 80,0003 x*9Y =123 8,640
&2 906,430 *9F *23 16,316
oY Jhtzg 50,0003 «8F = 12& 4,800
oXt RI+Y 115, 7003 *9F =10 10,413
o HEZ I 1,297,3142 x9H +23| 23,352
= 11,676
T 2,335
Al 9,341
SNEEEERS
13, 1082 x9H +20A| 2H+ 122+ 150% 42,470
M HAIRE3S 75,351 60,472 14,879
M SRHE(PIHS) 22X B82882 S 75,351 60,472 14,879
OYREgod(2I|He N L ATHEE
LY, ALREEE)
397,070 x9Z « 123 42,884
OEx2 HE 32,467,000 3 *14! 32,467
XIOHCtAIMIE 2Z K| 12| 923,280 928,988 AB,708
| 607,332
Al 315,948
101 2124 d| 778,280 781,918 A3,638
| 582,544
Al 195,736
03 SRH(RINHS) 22X 2+ 778,280 781,918 A3,638
OXIOHeta el el 778,280
SPIE—= 2,100,000& x19¥ 123 478,800
| 383,040
Al 95,760
cItEsY 1,600,000& *12& 19,200
| 15,360
Al 3,840
SIESES S, 75,240
A T=Ta=y 200,000& x 19 =123 45,600
| 36,480




A AL
M AHHZHI(SHAIL) (OIEH/DIE
chol: ol (19 @)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
Al 9,120
- HSAHI 130,000& x19& « 128 29,640
Il 23,712
Al 5,928
odZ2xg 520,000& * 19 <23 19,760
Il 15,808
Al 3,952
odI=EIkt= 50,0002 x19H 122 11,400
Il 9.120
Al 2,280
oAlZtRl 2R agt
19,0003 *20AI 2t 192+ 123 86,640
Jl 69,312
Al 17,328
oXRY 80,0002 x19H*12& 18,240
Il 14,592
Al 3,648
oWXteE 19,000,000& * 14! 19,000
Il 15,120
Al 3,880
o HES I 25,000, 000& »238] 50,000
04 HSRESS 145,000 147,070 22,070
Il 24,788
Al 120,212
M SRA(RIAHY) 22N EEE2RE=3 S 145,000 147,070 A2,070
OXHEgeE MPF= 2EERES
30,985,000 * 14! 30,985
Il 24,788
Al 6,197
OXIHEEgelR Al 2ERE3(XHH)
39,015,000 » 14 39,015
OXfEge s EXNE3
75,000,000 * 14! 75,000
Al - loTIIBF (24 222l APl A AP 2121H] 153,293 214,300 /61,007
= 76,647
= 15,329
Al 61,317
101 e124d| 153,293 214,300 /61,007
[ 76,647
= 15,329
Al 61,317
02 JIetaE == 153,293 214,300 61,007
OAIZHAERRIZDIHI(0tS) SHE(535A12H)
20,454,000 x5H 102,270




2A:
X XH -
o e

=aak

ro 0% H
JR0x Y
M0 HO >

02 08 12
oY &

=

HI(EAAIZE D) (DIEHDIE})

iI

M- 33 - SA(3) - MRA

- HyS

Ofl &F2H

MEE
Ofl &k2h

a

OJEsg

0

ct
o

OJIEt

i

OAIZte

ry

10
4>
s

839,310 128

140,000& x5~ 123

153, 1203 %5~ 123

120,000& 52~ 123

41,1503 +5E« 1238

9,620 *20A| 2H5H* 123

50,0002 52 «5H

15,0003 x5H » 122

SRR = Ml = N[ = N [ = N [ = o A

=

Mo = N[

=

SAREY

51,135
10,227
40,908
10,072
5,036
1,007
4,029
8,400
4,200
840
3,360
9,188
4,594
918
3,676
7,200
3,600
720
2,880
2,469
1,235
247
987

11,544
5,772
1,155
4,617
1,250

625
125
500

900
450

360

r
o
=

128,406

142,847

A14,441

S

I
0k
=

128,406

142,847

214,441

e}
o

x
[0
08

95,865

109,734

A13,869

>0
10
sl
ol
o=

)
1o
ra
i
0o
=5
O
12
=
0z

19,953,000 & x 14!
70,0003 %5

37,132

19,953
350

43,363

AB,231




A AL
M HAPAZH|(SHAIL D) (OIEH/DIE
s Jl=dhl EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OB (222N 1=t
70,0002 +8% 560
OSgHl S9AHd 9,952,000 14| 9,952
OS3RA(RIIA) 222 =2l
6,317,000 * 14 6,317
2 S5=24g4l 58,733 66,371 N7,638
O=52= € MAl S9N
20,190,000 » 14 20,190
OAIEZHISAIH SHA &
17,807,000& x 14 17,807
OUXE LAEEH FAI24=H]
1,478,000& 128 17,736
OXtg - &=t 3,000,000& *14] 3,000
202 04l 19,441 19,441
01 =LHA LI 19,441 19,441
ORANEg SHAY 11,041,000 *14] 11,041
OS3RH(RIIAH )22 X2] 04|
8,400,000 * 14 8,400
203 gF=4| 12,600 12,600
M FA2HLRFAI 12,600 12,600
O=ZAHAEH(71H) 12,600
oEZRBAXIA(20Y) 300,000 * 122 3,600
oSSR ABAXIA(22Y)
350,000& * 128 4,200
o XI0Heta M (209) 400,000 122 4,800
405 AHAHE S 500 1,072 ABT2
01 AL =S F = 500 1,072 Ab72
OsREHIAx 2RISR HED
500,000 1K 500




